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Question: 1

Why Should a Digital Developer use ProductSearchModel.getProducts() instead Of
Category.getOnlineProduccs
() to access products?

A. It is more readable code.
B. It has fewer lines of code.
C. It uses the search index.
D. It reduces accesses to the application server.

Answer: C

Question: 2

A business user wants to add a link to a content page from within the body of another content asset. The
target
content asset ID is: terms-and-conditions.
Which link function generates the correct link?

A. $include('Page-Include', 'cid', 'terms-and-conditions')$
B. $url(*Page-Show', 'cid', 'terms-and-conditions')s
C. $http('Content-Page', 'cid', 'terms-and-conditions^S
D. $httpUrl('Content-Show\ 'cid', ,terms-and-conditions')$

Answer: B

Question: 3

Universal Containers needs to have Apple Pay disabled for the country of Spain. Which Business
Manager module should the Developer use to meet this requirement?

A. Merchant Tools > Ordering > Payment Processors
B. Merchant Tools > Ordering > Payment Methods
C. Merchant Tools > Site Preferences > Payment Types
D. Merchant Tools > Site Preferences > Apple Pay

Answer: D
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Question: 4

A Digital Developer must give users the ability to choose an occasion (holiday, birthday, anniversary, etc.)
for which gifts are currently being selected. The data needs to be persistent throughout the current
shopping experience.
Which data store variable is appropriate, assuming there is no need to store the selection in any system
or custom objects?

A. Request scope variable
B. Session scope variable
C. Page scope variable
D. Content slot variable

Answer: B

Question: 5

Universal Containers sells physical gift cards for the holidays.
What needs to occur to guarantee the cards will always be available?

A. Create a perpetual inventory record.
B. Create an inventory record with Backorder Handling enabled.
C. Create an inventory record with an extremely high Allocation value (i.e., 1 billion certificates).
D. Create an inventory record with an unlimited Allocation value.

Answer: A

Question: 6

A Digital Developer needs to add a new form to the shopping cart page to allow customers to enter their
rewards pass ID. There is already an existing cart.js controller that handles processing of the other cart
forms. In addition, a form field node is in the form XML and the necessary form input is present in the
ISML template.
The code below is the submit button for the ISML markup.

What additional steps must occur before the Digital Developer can begin writing the processing code for
this request?
A.
• Add an <action /> node to the form definition XML with the attribute formid=’’addRewardFaas"
• Add the key addRewardPass, with a processing function as a value, to the object passed to the
Form.handleActionO method in the Cart .j* controller
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B.
• Add the attribute addtl-fonn-action^'addRewardPaas"1 to the ISML form
• Add the key addRewardPass, with a processing function as a value, to the object passed to the
Form.handleActionO method in the cart.3s controller
C.
• Add a <submit /> node to the form definition XML with the attribute formid=’’addRewardPas3"
• Add the key addRewardPasa, with a processing function as a value, to the object passed to the
Form.handleActionO method in the Cart.ja controller
D.
• Add an action /> node to the form definition XML with the attribute formid="addRewardFa3s"
• No change to cart.3a controller required

Answer: A

Question: 7

A Digital Developer has been given a requirement to add fault tolerance to an existing web service
integration that uses Service Framework. Administrators at Universal Containers need to be able to
configure the timeout and rate limiting.
Which approach should the Developer use to implement the requirement?

A. Implement a serviceUnavaiiableException exception handler to execute fallback code.
B. Use the setTimeout method to execute fallback code if the request has NOT completed.
C. Create a site preference to store timeout settings and implement an IOException handler to execute
fallback code.
D. Implement a condition that checks to see if the response was empty and execute fallback code if true.

Answer: A

Question: 8

A Digital Developer creates a B2C Commerce server connection in their UX Studio workspace. The
Developer adds new cartridges to the workspace, but the cartridges do NOT execute as the Developer
expects.
Which three things should the Digital Developer verify to ensure the cartridges are uploaded? Choose 3
answers

A. The Auto-Upload setting is enabled for the server connection.
B. The Active Server setting is enabled for the server connection.
C. The server is configured to accept incoming connections.
D. The cartridge is for the current version of B2C Commerce.
E. The credentials for the server connection are correctly entered.

Answer: A, B, E
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Question: 9

A Digital Developer extends a system object, Product, and adds a Boolean attribute, "sellable," to it.
Assuming "prod" is the variable name handling the product, what code can the Developer use to access
it?

A. prod.sellable
B. prod.persistable.sellable
C. prod.custom.sellable
D. prod.extended.sellable

Answer: A

Question: 10

A Digital Developer has detected storefront pages being rendered with an error message. After
inspecting the log files, the Developer discovered that an enforced quota is being exceeded.
What action should the Developer take to stop the quota violation?

A. Change the Business Manager configuration for the quota settings.
B. Ask support to remove the quota limit.
C. Rewrite the code that is causing the overage.
D. Take no action, the overage will be resolved when concurrent visitors are reduced.

Answer: A


